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Total time : 90 min Total marks : 100

Part I :- Multiple Choice Questions

Instruction: There are 60 MCQ questions in this part. Answer these questions on the Answer
Sheet given separately. You can use the blank spaces around the questions of this booklet for
rough work.

Section I: Mathematical (Questions 1 to 20) - MCQ (20X 1 = 20 Marks)

01.

02.

03.

04.

05.

06.

07

08.

If the sum of 3 consecutive integers is 216, then the sum of the two smaller integers is:
(A) 143 (B) 139 (C) 110 (D) none of these

A 20% reduction in price allows a customer to purchase 5 Kgs of rice at Tk. 160/- How
much would he have to pay if there was no discount?

(A) Tk. 180 (B) Tk.200 (C) Tk.210 (D) Tk.240

10% monthly salary increase resulted.in a Tk.14,400 per year increase in salary for an
employee. What was his monthly salary before the increase'?

(A) Tk.8,000 (B) Tk.9,000 (C) Tk.5,000 (D) Tk.12.000

50 girls and 100 boys were invited:to a party..If.30% of the.girls and 75% of the boys
attend the party. what percentage of guests attended?

(A) 55 (B) 60 (C) 65 (D) 75

What is the minimum number of chocolates that must be added to an existing batch of
220 chacolates, so that the total batch'can equally be divided among 2, 5 and 7 persons?
(A) 15 (B) 25 (C) 40 (D) 60

; ' an Evy
If one number exceeds another number by 12 and the smaller number is 5 times the

larger number, then the larger number is

(A) 25 (B) 18 (C) 15 (D) 20

In an examination there were 60 multiple choice questions. For every right answer 1
point is added and for every wrong answer (.25 points are deducted from the total. No
point is added or deducted for any unanswered question. An applicant answered 75% of
the total number of questions and got a total point of 30. How many answers of the

applicant were correct?

(A) 28 (B) 33 (C) 35 (D) 25
4% of which number is 207
(A) 400 (B) 500 (C) 700 (D) 450
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0.02 times 0.7 is

(A) 14% (B) 1.4% (C)0.14% (D) 0.014

A full can of petrol weighs 1.5 Kgs. When half full it weighs 1 Kg. What is the weight of
the empty can? '

(A)0.2 Kg (B) 0.25 Kg (C)0.5Kg (D)0.75 Kg -

. In a class of 120 students, 70 percent can speak only Bengali and the rest can speak

English. If 25 percent of those in the class who can speak English can also speak
Bengali, how many of the students in the class can speak Bengali?
(A) 39 (B) 48 . (C)&4 (D) 93

. A train went 300 miles from City X to City Y at an average speed of 100 mph. At what

speed did it travel on the way back if its average speed for the whole trip was 120 mph?
(A) 120 mph (B) 125 mph (C) 150 mph (D) 130 mph

If X.is an odd integer and Y is an eveniinteger, which of the following statements is (are)
always true?

L X +Y isodd. I1. XY is odd. IH. X+ 2Y is even

(A) I only (B) II'and [IT'only (C) I and 1l only (D) I only

Business Partners, A, B and C agree to divide their'total profit for the year in the ratios 1
: 2 : 2 respectively. If B's share of the profits is Tk.27,200, what was the total profit of
the business partners for the year?

(A) Tk.64.,000 (B) Tk.30,000 - (C) Tk.76,000 (D) Tk.68,000

One third of the. faculty. members of a department are female. Sixteen of the male
teacher's are unmarried, while 60% of them are married. The total number of faculty
members in the department is:

(A) 72 (B) 60 (C) 30 (D) 90

. A carpet that measures 5 ft by 9 ft covers 75% of a floor. What is the area of the floor?

(A) 60 (B) 100 (C) so (D) 90

. What is 25% of -;—301" 2007

(A) 11 (B) 12 (C) 13 (D) None of these

- The average of 5 numbers is 25. If 2 more numbers, with an average of 18 are added to

these numbers, what will be the average of the combined 7 numbers?
(A) 20 (B) 22 (C) 23 (D) 25
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19. In the figure below ACDH and BCEF are rectangles, AH =3, GH=3, GF =3, and FE =
6, What is the area of BCDG? c D B

(A)5 (B)I0  (©15  (D)I8

' 3
20. An empty pool is being filled with water at a constant rate. It takes 9 hours to fill gth of

the pool. How much-time-will it take to completely fill the pool?
(A) 15 (B)9 () 10 - (D) 12

Section II: English (Questions 21 to 40) - MCQ (20 X 1 =20 Marks)

Fill-in the blanks

ZI'He blarted . S 0lETT TN the secret.
(A) out (B) oft (C)as (D) away
22.This transformation ¢ould be brought.................. through hard work.
(A) under v (B)on (C) about (D) in
23. Therole of women .......0u.0u the development of our country is undeniable.
(A) In - (B) with (C) by (D) through
24. Please look ............. W...coeceic. the matter seriously
(A) in (B) on (C) into (D) over
25. He was told t0 TepOrt ......ceeuvecvnriereierencens his bOSS
(A) before (B) to (C) by (D) amid

For each word written in capital letter, select a word having opposite meaning
26. RELIABLE

(A) Unattainable (B) Indefensible (C) Undependable (D) Verify
27. CLARIFY
(A) Refuse (B) Confuse (C) Shelter (D) Garbage
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28. FITTING

(A) Incorrect (B) Principled (C) Appropriate (D) Inappropriate
29. RESTRAIN

(A) Politician (B) Release (C) Official (D) Certificate
30. DISCLOSE

(A) Conceal (B) Enemy (C) Appropriate (D) Body

Select the pair of words that best expresses a relation similar to that expressed in the

pair of words in capital letters

31. WALLS : CORNER

(A) rugs : mat (B) bend : angle (C) bones : joint (D) fruits : trees
32. FAN : SWEAT ‘ '

(A) fire : smoke (B) rain : drought (C) wind : evaporation (D) crop : harvest
33. WATCH : TIME

(A) thermometer : temperature (B) barometer : weight

(C) automobile : distance (D) airplane : airport

34, SHELL : PEANUT
(A) loaf; bread (B) skin: mango (C) fruit: tree (D) sea: island
35. PIGEON : BIRD
(A) flawer : tree  (B) thermometer: doctor (C) envelope: letter (D) human : mammal

For each word written in uppercase select a word having similar meaning

36. DESTITUTE

. (A) Indigent (B) Debt (© Irﬁpoverished (D) Solvent

37. COMPLIANCE

(A) Superb (B) Plain (C) Shameful (D) Conformity-
38. EVENT

(A) Occasion (B) Professional (C) Awkward (D) Difficult
39. HOARD

(A) Habitant (B) Store (C) Domicile (D) Average
40. BARTER

(A) Pride (B) Pleasure (C) Exchange (D) Injustice
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Section I1I: General Knowledge (Questions 41 to 60)-MCQ (20 X 1 =20 Marks)
41. The 'Big Ben' is the

(A)Name given to the big clock of the British Parliament building.

(B) Official residence of the President of France.

(€) One of the longest palaces in Spain.

(D) Sand and rock bridge between Sri Lanka and India.
42. The author of the 'Harry Porter' Series is ; ;

(A) William Shakespeare (B)JK Rowling (C).Sidney Sheldon (D) HG Wells

43. The poem "Runner" was written by

(A) Kazi Nazrul Islam (B) Shamsur Rahman
(C) Jasimuddin (D) Sukanta Bhattacharya
44, Sir Jagadish Chandra Bose is famous.for his contribution in the field of
(A)Physics (B) Biology (C) Bengali literature (D) All of the above

45. On 10 April 1971, the Government of the People's Republic of Bangladesh was formed
through a proelamation of independence issued from
(A) Patgram of Lalmonirhat Distriet (B) Palashi ef Nadia District
(C) Dhanu-Kamalpur of Jamalpur District (D) Mujibnagar of Meherpur District

46. During the surrender of the Pakistani occupation force at Race Course Maidan (Now
Suhrawardy Uddan) on 16 December 1971 the Bangladesh side was represented by
(A) Air Viee Marshal (Rtd.) A K Khandker (B) General M A G Osmani
(C) Major General KM Safiullah (D) Brigadier Khaled Mosharraf :

47. Whichof the following is.not a local bank

(A)City Bank Ltd: ; (B) Standard Bank Ltd.

(C) Habib Bank Ltd. 2 (D) AB Bangladesh Ltd.
48. Letter of Credit (LC) is a banking instrument used for

(A) Foreign remittance (B) Loan securit (C) Export-Import (D) Money transfer
49. Which is not a source of government revenue

(A) Value added tax (B) Customs duty

(C) Foreign remittance (D) Income tax
50. Resources in an economy ;

(A) Are always fixed . * (B) Can never decrease _

(C) Always increase over time (D) Are limited at any moment in time
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The central bank in the USA is known as

(A) US Bank (B) Federal Reserve System

(C) Keybank USA (D) Bank of America

An increase in investment is most likely to be caused by

A) Lower interest rates ' (B)Lower national income

C) A decrease in the marginal propensity to consume  D)An increase in withdrawals
The public sector includes

A) Investors owning companies (B) Government ownership of assets

C) Market forces of supply and demand (D) All trade via barter
Which is not a Wing of the National Board of Revenue (NBR) {
A) Customs (B) Income Tax (C) Value Added Tax (D) Banking
The Incoterm CIF stands for

A) Cost, Insurance & Freight (B) Clean Initial Finding

C) Commen Internal Fund (D):None of the previous

Which of'the following aspects is not included in Holistic Marketing

A) Face to face marketing (B) Internal marketing

(C) Relationship marketing (D) Integrated marketing

Indicate which of the following statements is false

(A) Services do not have any tangible component

(B) Itis.very difficult to standardize services

(C) Services cannot'be stored (D) Some goods are also perishable like services

Which of the following is NOT an advertisement

(A) A 20 X 4 feet sign board with Prime Bank Ltd. name in front of the Bank's head
office

(B) An audiovisual film shown in a local cinema hall on SMC oral saline

(C) Agora giving Tk.100/- coupon for every Tk.4,000/- purchase

(D) An newspaper insertion by BATB on tree plantation without mentioning any of its
products

refers to non-personal communications regarding all organization, product,
service or idea not directly paid for or run under identified sponsorship.

(A) Public Relations (B) Word of mouth communication
(C) Publicity : (D) Direct Marketing
Which of the following is not a type of demand for marketing
(A) Irregular demand (B) Latent demand
- (C) Positioning demand (D) Negative demand
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Part II: Written Part

A. Essay Writing (20 Marks)
Narrate briefly about a TV advertisement that has impressed you most and explain why you think it
was a good advertisement. '

B. Comprehension ‘ (20 Marks)

Instructions: Read the following passage and follow the directive at the end

" The Montessori educational philosophy is built upon the idea that children develop and think

differently from adults; that they are not merely "adults in small bodies". Dr. Montessori advocated
children's rights, children working to ‘develop themselves into adults, and that these developments
would lead to world peace.

The Montessori method discourages many of the traditional measurements of achievement (grades,
tests). The method instead focuses on sparking a child's interest in learning through presenting
materials to students that will catch their interest. The Montessori Method does measure feedback and
qualitative analysis of a child's schooling performance. The analysis does not come from grades, but
from careful observation of the child. ‘According to Lillard: :
Montessori teachers do evaluate children's progress: when giving lessons, through ongoing
observations in the classroom, by examining the products of their work, and by going over the
Work Journal. It is simply not often-obvious to children that they are being evaluated, sincethey
are not given grades, praise, or other tokens of E;valuation,
There are many ways to present these observations to parents and there is no standard way to do it. It is
often recorded as a list of skills, activitiesy and critical points, and sometimes including a narrative
explanation of the child's educational achievements,’ strengths, and weaknesses - with the emphasis

upon the improvement of said weaknesses.

Imagine that you are opening an academy for teaching young children by the Montessori educational
philosophy. Write a letter to prospective parents trying to persuade them to enroll their children by
describing the Montessori method and your curriculum.

Answer Key

01. (A) 02. (B) 03. (D) 04. (B) 05. (D) 06. (B) 07. (B) 08. (B) 09. (D) 10. (C) 11. (D) 12. (C) 13. (A)
14. (D) 15. (B) 16. (A) 17. (C) 18. (C) 19. (D) 20. (A) 21. (A) 22. (C) 23. (A) 24. (C) 25. (B) 26. (C)

27. (B) 28. (D) 29. (B) 30. (A) 31. (C) 32. (B) 33. (A) 34. (B) 35. (D) 36. (C) 37. (D) 38. (A) 39. (B)
40, (C) 41. (A) 42. (B) 43. (C) 44. (B) 45. (D) 46. (B) 47. (C) 48. (C) 49. (C) 50. (D) 51. (B) 52. (A)

53. (B) 54. (D) 55. (A) 56. (A) 57. (A) 58. (D) 59. (B) 60. (C)

531

www.questionsolution.com



w2 ba T T Ter wiverst A #fte 7]
- IR TSR $E-8if$d 9189 9oi- Practical HRM”

T K. A. Islam-43 w41 8 S@ufur’s 33 etﬁfrﬁiﬁ | @t 7rere Free
AL I WA GG OIS WA 9 (@ AFSHIR ©lel WifeTd 0o AT |
@ J37e (WA R /@ -6 T6 [e 7 =4 3

BRI @EAfATe TeR 499 W management-93 % (ATF AT M QI I ARH
T 0, TS fAm (eiTE S St THeT 2. 4ra e+ | fRE @ e st TR cors, @ fme
o1 S IMTS FR (T | FET qoF €2 T IFIN FARE | O3 FTS! TH T G GF (AT
wee (581 At »ftee . R qifre AR ATa el (AT SRS AWS supervisor 4R line
manager-3i I 271 | YT IR TS S5 A (PR FBAN  factory's T GG security
manager e e | @7 e om Semee il ST | @rriifTs crmE FE e femm
% branch manager ST® ARGE REAH I 99 O Sofr e @v gl fes TS
- TS TR A

7 AR N Q- Sl MM (W security manager @ 16 wifStn witg, @3
Tz IR (AT WITSAW AEW @ sz | 2920 vewmels, FiEfrs gfew 4w........... |

TEHIR0 RGO &) Iimewf%....

wifyl AR @I TT @A TE G T corporate office WA | Jo0e AIEA
AR T | @B e zere e | AR SR FIE e | IR I BT AR | SIAA G0l
generator f&1 | 8 generator v TR AR I T FAS! fE@ T | TGOS B FHIE
STfr M & Assistant Admin Manager-93 31t@ admin officer T | Assist. Admin
Manager FI&I OIGE I AN S W GM ARIE generator BIEIR ARRMTR &
phone e | MD ies & @ @r==iifae T @ g I 2w | GM RS St phone
fatem | MDD #1t&R permission (AR =< generator B¢ F1 2F |

532
www.guestionsolution.com



MD #ited UK @@ T8 W I generator SETAR permission (781 Z0S1 | QI
WIS (T B! A permission R & gfsfmaz MD itzacs UK i@ swms
T (TN FA091, 1 =W e-mail FACST |

gB1 GFB exireme case TS A | fFF FNHS AT OBt common TBF! | T (WY eI
TaEEd FC&-satisfaction AR W T, O USA, UK, Canada 93 Australia-a tsi
AHSTETS migrate A ACE | @ IS (IR MG SIS MR (@, job-@ A= fFo@
TN @33 BT TS AT 0T SR 7T TSR |

WeEFR computer FH #Te 4itF

Wwﬁfiﬁswﬁﬁm@|ﬂwmanager-waﬁﬁm%ﬂmcmlwmm
S AW W IR, T D AfSYicTa Tt TS 513 @14, e-mail A € w9 oA,
I (IRIRTE T I T AR | -0 (A (@ T SIAd (712 |

oI St TNy 20T <t

N 9FCW  factory. manager-@ S | f5fi «em o engineer f&rem | fow o ww
T3 (- TSR 7| cowE S I AfKeE, TR IR marketing department 12 B
&= T | MD RS oFi-(b OF IR | € @2 factory manager €TEAR WHTS (GAR
191 FICH I AT | WS

TG (@FNITe @3 A8 WY &= e ayreras At 5™ mechanical engineer fFra
tateEs | oime fee SeeEd academic track record | SF@ w91 &, floor-q @TS ORI ©F
AT, FRY (AR A O/ +ifafes frem W | Wi aFE-g3 T w39 eres @ W
o TS, SR TR fre S 39S | SR WNR I FEW IERA & BUET-4 7%l SR
R BoR oM (I AW SfSTre! ZAM | THRMTR T8 T &l aferset «i1mf | oo
P TREH e SR B e | SRUAE, S B (e e AW, IR MBWA

(Managing By WKANf A€ siosol UtIoh o =™



	525
	526
	527
	528
	529
	530
	531
	532
	533



